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1)The nth term of an A. P. is 6n + 11. Find the common difference *

2)If the 8th term of an A. P. is 31 and the 15th term is 16 more than the 11th term, find
the A. P. *

3)Which term of the arithmetic progression 5, 15, 25, ----- will be 130 more than its
31st term? *

https://www.google.com/url?q=https://youtu.be/3BREHkSz4h8&sa=D&source=editors&ust=1636387617321000&usg=AOvVaw1q9LBjVfVxJUW0EoWfE2gX
https://www.google.com/url?q=https://youtu.be/fYOezJxVZZk&sa=D&source=editors&ust=1636387617321000&usg=AOvVaw136B4cO89Mj85pxbUx4ykM
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4)Which term of the A. P. 3, 15, 27, 39...... will be 132 more than its 54th term? *

5)The 10th and 18th terms of an A. P. are 41 and 73 respectively. Find 26th term. *

6)If the nth term of the A. P. 9, 7, 5.... is same as the nth term of the A. P. 15, 12, 9......
find n *
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7)The sum of the first 3 terms in an AP is 51 and that of the last 3 is 99. If the AP has 11
terms, what is the arithmetic mean of the middle 3 terms? *

8)In an AP, the ratio of the 2nd term to the 6th term is 2/5. If the 8th term is 26, what is
the 10th term? *

9)In an AP, the sum of the first 3 terms is – 60 and that of the last 3 are 84. If there are
15 terms, what is the sum of the middle 3 terms? *
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10)In an AP, the sum of the first 3 terms is -36 and that of the last 3 is 27. If there are 10
terms, what are the 1 st term and the common difference respectively? *

11)In an AP, the ratio of the 7th term to the 10th term is -1. If the 16th term is -15, what
is the 3rd term? *

12)The sum of the first 3 terms in an AP is 6 and that of the last 3 is 16. If the AP has 13
terms, what is the sum of the middle three terms? *
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13)In an AP, the ratio of the 2nd term to the 7th term is 1/3. If the 5th term is 11, what is
the 15th term? *

14)The 6th term of an AP is 6 and the 16th term is 14. What is the 27th term? *

15)In an AP of 21 terms, the sum of the first 3 terms is – 33 and that of the middle 3 is
75. What is the sum of the AP? *
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16)Find the 5th term of the G. P.: 1/7,1/14, 1/28 ... *

17)The arithmetic mean between two numbers is 75 and their geometric mean is 21.
Find the numbers. *

18)Find the G. M. between 4/9 and 169/9. *
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19)Find sum of first 5 terms of the G.P 2, 8, 32,… *

20)The geometric mean of two numbers is 6 and their arithmetic mean is 6.5. The
numbers are *
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